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1 54. 0386 = X < 61.9255
2 61.9255 = X < 66. 3859
3 66. 3859 = X < 69. 4859
4 69. 4859 = X < 71. 8553
6] 71. 8553 = X < 73. 7694
6 73. 7694 = X < 75. 3729
T 75. 3729 = X < 76. 7515
8 76. 7515 = X < 7. 9596
9 7. 9596 = X < 79. 0342
10 79.0342 = X < 80. 0015
11 80.0015 = X < 80. 8807
12 80. 8807 = X < 81. 6863
13 81. 6863 = X < 82.4294
14 82.4294 = X < 83.1190
15 83.1190 = X < 83. 7622
16 83. 7622 = X < 84. 3646
17 84. 3646 = X < 84. 9311
18 84.9311 = X < 85. 4658
19 85. 4658 = X < 85.9718
20 85.9718 = X < 86. 4521
21 86. 4521 = X < 86. 9092
22 86. 9092 = X < 87. 3452
23 87.3452 = X < 87.7618
24 87.7618 = X < 88.1608
25 88.1608 = X < 88. 95435
26 88. 95435 = X < 88.9112
21 88.9112 = X < 89. 2650
28 89. 2650 = X < 89. 6059
29 89.6059 = X < 89. 9349
30 89. 9349 = X < 90. 2526
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31 90. 2526 = X < 90. 5599
32 90. 5599 = X < 90. 8574
33 90. 8574 = X < 91. 1456
34 91. 1456 = X < 91.4253
35 91. 4253 = X < 91. 6967
36 91. 6967 = X < 91. 9605
37 91. 9605 = X < 92. 2170
38 92. 2170 = X < 92. 4664




